
Time Allowed : 2½ Hours] [Maximum Marks : 150

Number of Pages in this Booklet : 40 Number of Questions in this Booklet : 75

Signature and Name of Invigilator

1. (Signature) .........................................

     (Name) ................................................

2. (Signature) .........................................

     (Name) ................................................

Seat No. 

(In figures as in Admit Card)

Seat No. ..............................................................

                                         (In words)

   OMR Sheet No. 

                         (To be filled by the Candidate)

Paper-III

POLITICAL SCIENCE

DEC - 15313

M
Test Booklet No.

iz'uif=dk ÿ-

Instructions for the Candidates
1. Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.
2. This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,
covering entire syllabus (including all electives, without options).

3. At the commencement of examination, the question booklet
will be given to the student. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it as
follows :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

4. Each question has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below on
the correct response against each item.
Example : where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.

6. Read instructions given inside carefully.
7. Rough Work is to be done at the end of this booklet.
8. If you write your Name, Seat Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you  will render yourself liable to disqualification.

9. You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table, etc., is prohibited.
12. There is no negative marking for incorrect answers.

A B D

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 75 cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D
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1. Give the correct answer by using the

codes given below :

(1) There is a strong element of

historicism in normative

political theory.

(2) The empirical political theory is

value neutral.

(3) According to post-behavioura-

lists study of politics demands

explanation and not mere

description.

Codes :

(A) (1) is correct, (2) and (3) are

wrong

(B) (1), (2) and (3) are wrong

(C) (1) and (2) are correct, (3) is

wrong

(D) (1), (2) and (3) are correct

1. [kkyh fnysY;k ladsrlwphpk okij d:u

;ksX; mŸkj |k %

(1) ewY;iz/kku (vkn'k Zoknh) jktdh;

flºkarkoj bfrgkloknkpk eksBk izHkko

vkgs-

(2) vuqHkooknh jktdh; flºkar ewY;fujis{k

vkgsr-

(3) mŸkj vk/kqfudrkok|kaP;k ers jkT;

'kkL=kr QDr o.kZu uOgs rj Li"Vhdj.k

gos vlrs-

ladsrlwph %

(A) (1) cjkscj vkgs, (2) o (3) pwd vkgs

(B) (1), (2) o (3) pwd vkgsr

(C) (1) o (2) cjkscj vkgsr, (3) pwd vkgs

(D) (1), (2) o (3) cjkscj vkgsr

Political Science
Paper III

jkT;'kkL=
iz'uif=dk III

Time Allowed : 2½ Hours] [Maximum Marks : 150

Note : This Paper contains Seventy Five (75) multiple choice questions, each

question carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k ipgŸkj (75) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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2. The basic difference between

Gandhi’s theory of Satyagraha and

Passive resistance is :

(A) Satyagraha stands for truth

and non-violence passive

resistance agrees with it

(B) Unity of ends and means

(C) Both draw inspiration from the

Irish practice

(D) Both agree to follow non-violent

methods till sufficient strength

is acquired to take recourse to

armed struggle

3. Give the correct answer by using the

codes given below :

(1) Inability of behavioural

political theory to give correct

answers to contemporary social

problems reduced its appeal.

(2) Resurgence of Neo-Marxist

ideology after the escalation of

the Vietnam war encouraged

revival of Political Theory.

(3) Positivism and historicism

greatly helped revival of

Political Theory.

Codes :

(A) (1), (2) and (3) are correct

(B) (1) and (2) are correct, (3) is

wrong

(C) (1), (2) and (3) are not correct

(D) (1) is correct, (2) and (3) are

wrong

2. lR;kxzg vkf.k fu%'kL= izfrdkjkP;k xka/khthaps

flºkarkrhy eq[; Qjd Eg.kts %

(A) lR;kxzg lR; o vfgalspk iqjLdkj djrks]

fu%'kL= izfrdkj R;kckcr lger vkgs

(B) lk/; vkf.k lk/kus ;krhy ,sdp

(C) vk;fj'k izfrdkjkiklwu nks?kkauh izsj.kk

?ksryh

(D) l'kL= la?k"kkZlkBh iqjsls cˇ fe ši;±r

nks?ksgh vfgald ekxkZps iqjLdrsZ vkgsr

3. [kkyh fnysY;k ladsrlwphpk okij d:u

;ksX; mŸkjs |k %

(1) l/;kP;k lkekftd iz'ukaoj ;ksX; mŸkjs

'kks/k.;kl vi;'k vkY;keq š orZuoknh

jktdh; flºkarkpk izHkko deh >kyk-

(2) fOg,ruke ;qºkph rhozrk ok<Y;kuarj o

uo&ekDlZoknh fopkj vf/kd izHkkoh

>kY;ku arj jktdh; flºk arkP;k

iqu#Tthoukl izksRlkgu feˇkys-

(3) izR;{kkFkZokn o bfrgklokn ;kaP;keqˇs

jktdh; flºkarkP;k iqu#Tthoukl enr

>kyh-

ladsrlwph %

(A) (1), (2) o (3) cjkscj vkgsr

(B) (1) o (2) cjkscj vkgsr o (3) pwd vkgs

(C) (1), (2) o (3) cjkscj ukghr

(D) (1) cjkscj vkgs, (2) o (3) pwd vkgsr
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4. Which one of the following pairs is

not correctly matched ?

(A) Classical — Maximisation

Liberalism of Individual

Powers

(B) Modern — Maximisation

Liberalism of Individual

Profits

(C) New — State Interven-

Liberalism tion

(D) Revisionist — Welfare State

Liberalism

5. Which one of the following concepts

is not borrowed by Marx from

Hegel ?

(A) The theory of Alienation

(B) Theory of surplus value

(C) The concept of Dialectics

(D) Philosophy of History as process

of change

4. [kkyhyiSdh dks.krh tksM+h ;ksX; izdkjs

tqˇoˇh vkgs \

(A) vfHktkr µ O;DrhP;k {kerspk

mnkjerokn tkLrhr tkLr

fodkl

(B) vk/kqfud µ O;Drhyk tkLrhr

mnkjerokn tkLr ykHk izkIr

gks.ks

(C) uok mnkjerokn µ jkT;kpk gLr{ksi

(D) lq/kkj.kkoknh µ dY;k.kdkjh jkT;

mnkjerokn

5. [kkyhyiSdh dks.kR;k ladYiukapk ekDlZus

gsxsydMwu Lohœr dsY;k ukgh \

(A) ijkReHkkokpk flºkar

(B) vfrfjDr ewY;kpk flºkar

(C) fojks/kfodkloknkph dYiuk

(D) bfrgklkps rŸoKku&ifjorZukph izfÿ;k
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6. Which one of the following

statements is not correct ?

(A) The majoritarianism was

inherent in the principle of the

greatest good of the greatest

number.

(B) The hedonistic calculus of

pleasures and pains bridged gap

between mental and physical

pleasures.

(C) The utilitarians compromised

with the basic principle of

liberalism when they advocated

strong reformist state.

(D) The utilitarians rejected theory

of natural rights as untenable.

7. Which one of the following ideas was

not expounded by Lenin ?

(A) Imperialism

(B) Democratic Centralism

(C) Dictatorship of Proletariat

(D) Socialism in one country

6. [kkyhyiSdh dks.krs fo/kku cjkscj ukgh \

(A) tkLrhr tkLr yksdkaps tkLrhr tkLr fgr

;k rŸokar cgqla[;okn varHkwZr vkgs-

(B) lq[k o nq%[kkaP;k miHkksxoknh ferheq š

ekufld o 'kkjhfjd lq[kkrhy varj deh

>kys-

(C) izHkkoh lq/kkj.kkoknh jkT;kP;k flºkarkpk

i qjLdkj d:u mi;qDrrkok|k auh

mnkjeroknkP;k ewˇ rŸoka'kh rMtksM

dsyh-

(D) uSlfxZd vf/kdkjkaP;k flºkarkl vokLro

dYiwu mi;qDrrkok|kauh R;kl udkj

fnyk-

7. [kkyhyiSdh dks.kR;k fopkjkapk ysfuuus iqjLdkj

dsyk ukgh \

(A) lkezkT;okn

(B) yksd'kkgh dsaÊokn

(C) dkexkjoxkZph gqdqe'kkgh

(D) ,dk ns'kkr lektokn
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8. Mao Tse Tung wrote an essay “On

Historical Experience of Dictatorship

of Proletariat” to defend :

(A) The Chinese concept of peoples

democracy

(B) Cultural revolution

(C) Stalin against Khruschev’s

attack

(D) Marxist philosophy from social

imperialism

9. According to Plato Philosophers

should become the Kings because :

(A) they organise communism of

family and property

(B) they know the idea of the Good

(C) they head the state which had

three class society

(D) they are recruited from the class

of guardians

8. ekvks Rls rqaxus ^dkexkjoxkZP;k gqdqe'kkghpk

,sfrgkfld vuqHko* gk ys[k fygwu dks.kkps

leFkZu dsys \

(A) tursP;k yksd'kkghph dYiuk

(B) lkaLœfrd ÿkarh

(C) [kzq'psOgP;k LVWfyufojks/kh vkÿe.kkl

fojks/k

(D) lkekftd lkezkT;oknkiklwu ekDlZoknh

rŸoKkukps leFkZu

9. IysVksP;k ers rŸoKkauh jktk Ogkos dkj.k %

(A) R;kauh ekyerk o dqVqaclaLFkk ;kaP;k

lkE;oknkps la?kVu dsys vkgs

(B) R;kauk f'kolRladYiuspk flºkar ekghr

vkgs

(C) R;kauh usr`Ÿo dsysY;k jkT;kr rhu oxkZpk

lekt vkgs

(D) ikyd oxkZrwu R;kaph HkrhZ >kyh vkgs
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10. Which one of the following
statements is not correct ?

(A) According to Aristotle,
Constitution is an arrangement
of political offices that
determine who should rule.

(B) A state in which equals rule and
are ruled in turn is state based
on rule of law.

(C) According to Aristotle
democracy is the best form of
government.

(D) According to Aristotle, philo-
sopher king is theoretically
possible but practically
impossible.

11. Give the correct answer by using the
code given below :

(1) According to Machiavelli, the
Prince must be strictly empirical
in his political analysis.

(2) According to Machiavelli, a
man who wishes to make
profession of goodness in every-
thing must come to grief among
people who are not good.

(3) Machiavelli prefers authority to
power because raw power is
ineffective.

Codes :

(A) (1), (2) and (3) are correct

(B) (1), (2) and (3) are wrong

(C) (1) and (2) are correct, (3) is
wrong

(D) (1) is correct, (2) and (3) are
wrong

10. [kkyhyiSdh dks.krs fo/kku cjkscj ukgh \

(A) vWfjLVkWVyP;k ers jkT;?kVuk gh jktdh;
vf/kdkjinkaph v'kh O;oLFkk vkgs T;kr
dks.kh jkT; djkos gs Bjoys tkrs-

(B) T;k jkT;kr T;kl leku vf/kdkj vkgsr
rs jkT; djrkr rlsp R;kaoj jkT; dsys
tkrs R;kl dk;|kps jkT; Eg.krkr-

(C) vWfjLVkWVyP;k ers yksd'kkgh gk lokZr
pkaxyk jkT; izdkj vkgs-

(D) vWfjLVkWVyP;k ers lSºkafrdn`"VÓk
rŸoKkl jktk gks.ks 'kD; vkgs i.k
O;ogkjr% rs 'kD; ukgh-

11. [kkyhy fnysY;k ladsrlwphpk okij d:u
;ksX; mŸkjs |k %

(1) eWdhOgyhP;k ers vkiY;k jktdh;
fo'ys"k.kkr jktkus iw.kZr% vuqHkofu"B
jkfgys ikfgts-

(2) eWdhOgyhP;k ers tsOgk euq"; izR;sd
ckcrhr pkaxqyi.kkpk vkxzg /kjrks vkf.k
rks tsOgk pkaxys ulysY;k ek.klkaP;k
laidkZr ?ksrks rsOgk rks grcy gksrks-

(3) eWdhOgyh lRrsis{kk vf/klŸksl izk/kkU; nsrks
dkj.k ik'koh lŸkk ifj.kkedkjd ulrs-

ladsrlwph %

(A) (1), (2) o (3) cjkscj vkgsr

(B) (1), (2) o (3) pwd vkgsr

(C) (1) o (2) cjkscj vkgsr o (3) pwd vkgs

(D) (1) cjkscj vkgs, (2) o (3) pwd vkgsr
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12. Which one of the following

statements is not correct ?

(A) For Hobbes, morality and self-

interest are one and the same.

(B) Hobbes has transformed

classical natural law theory in

naturalistic ethics.

(C) It pretence to believe that

constitutional rights really limit

the power of government.

(D) Hobbes advocated two stage

theory of social contract.

13. Which one of the following pairs is

not correctly matched ?

(A) Thomas Hobbes—Felicity

(B) Rousseau—General will

(C) Locke—Unlimited Government

(D) Bentham—Utilitarianism

12. [kkyhyiSdh dks.krs fo/kku pwd vkgs \

(A) gkWCtP;k ers uSfrdrk o Lofgr gs

lekukFkhZ vkgsr-

(B) gkWCtus vfHktkr uSlfxZd dk;|kP;k

flºkarkps :ikarj uSlfxZd uhrh'kkL=kr

dsys-

(C) ?kVukRed vf/kdkj jkT;kph lŸkk e;kZfnr

djrkr vlk fo'okl Bso.ks vkReoapuk

vkgs-

(D) gkWCtus nksu VII;krhy lkekftd djkjkpk

flºkar ekaMyk-

13. [kkyhyiSdh dks.krh tksM+h ;ksX; izdkjs

tq̌ oyh ukgh \

(A) FkkWel gkWCtµof/kZ".kq viw.kZ bPNk

(B) :lksµlkewfgd bgk

(C) ykWdµve;kZfnr 'kklu laLFkk

(D) csaFkeµmi;q‰rkokn
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14. Give the correct answer by using the

code given below :

Assertion (a) :

According to Mill, it is better to be

a human being dissatisfied than a

fool satisfied.

Reason (r) :

The fools know only their own side

of question and other party in

comparison knows both sides.

Codes :

(A) (a) is wrong and (r) is correct.

(B) Both (a) and (r) are correct and

(r) is the answer of (a).

(C) Both (a) and (r) are correct but

(r) is not the answer of (a).

(D) Both (a) and (r) are wrong.

14. [kkyh fnysY;k ladsrlwphpk okij d:u

;ksX; mŸkj |k %

fo/kku (a) :

feyP;k ers ew[kkZP;k lek/kkukis{kk euq";kps

vlek/kku Js;Ldj vkgs-

dkj.k (r) :

ew[kk±l iz'ukph Lor%ph cktw ekghr vlrs]

i.k nqlÚ;k i{kkl R;kP;k nksUgh cktw ekghr

vlrkr-

ladsrlwph %

(A) (a) pwd vkgs o (r) cjkscj vkgs-

(B) (a) o (r) cjkscj vkgsr o (r) gs (a)

ps mŸkj vkgs-

(C) (a) o (r) cjkscj vkgsr i.k (r) gs (a)

ps mŸkj ukgh-

(D) (a) o (r) gs nksUgh pwd vkgsr-
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15. Arrange chronologically political

transformations of M.N. Roy :

(1) Young militant revolutionary in

Bengal.

(2) Chief of radical Humanist party.

(3) A member of the Comintern in

Russia.

(4) Advocate of New Humanist

Movement.

Codes :

(A) (1), (2), (3) and (4)

(B) (1), (3), (2) and (4)

(C) (1), (4), (3) and (2)

(D) (4), (2), (1) and (3)

16. Which one of the following

statements is not correct ?

(A) Sri Aurobindo Ghosh rejected

the moderates’ policy of prayers

and petitions.

(B) He provided religious fervour

and the spiritual basis to Indian

nationalism.

(C) He was Gandhi’s predecessor as

far as theory of Sarvodaya was

concerned.

(D) His theory of passive resistance

was accompanied by the policy

of self-development.

15. ,e-,u- jkW; ;kaP;k jktdh; ifjorZukaph

dkyÿekuqlkj ladsrlwph oki:u ekaM.kh

djk %

(1) caxkykrhy r#.k l'kL= ÿkafrdkjd-

(2) jWfMdy gÓqeWfuLV i{kkps izeq[k-

(3) jf'k;kr dE;qfuLV baVjuW'kuy (dkWfeaVuZ)

ps lnL;-

(4) uoekuorkoknkps iqjLdrsZ-

ladsrlwph %

(A) (1), (2), (3) o (4)

(B) (1), (3), (2) o (4)

(C) (1), (4), (3) o (2)

(D) (4), (2), (1) o (3)

16. [kkyhyiSdh dks.krs fo/kku cjkscj ukgh \

(A) vjfoan ?kks"k ;kauh useLr eokˇkaps izkFkZuk

o vtZfouaR;kaps /kksj.k vekU; dsys-

(B) R;kauh Hkkjrh; jk"V™oknkl /kkfeZd mtkZ

o vk/;kfRed vf/k"Bku iznku dsys-

(C) lok s Zn;kP;k flºk arkP;k ckcr r s

e- xka/khaps iwoZlwjh Bjrkr-

(D) R;kaP;k fu%'kL= izfrdkjkpk flºkar

vkRefodklkP;k /kksj.kklkscr ekaM.;kr

vkyk vkgs-
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17. [kkyhyiSdh dks.krs fo/kku cjkscj ukgh rs

lkaxk \

(A) y"dj gh laLFkhHkwr jktdh; lajpuk

vkgs-

(B) dk;nseaMˇ gh fu;efufeZrh dj.kkÚ;k

lajpukaiSdh ,d lajpuk vkgs-

(C) loZ fu;e&fu.kZ;kps dk;Z gh dsoˇ

U;k;laLFkkp ikj ikMr vlrs-

(D) uksdj'kkgh gh fu;ekapk dk;Zokgh dj.kkjh

egŸokph lajpuk vkgs-

18. [kkyhyiSdh dks.krs vH;klfo"k;d n`f"Vdksu

gs rkSyfud jkT;'kkL=kP;k v/;;ukrhy

dsoˇ ikjaikfjd n`f"Vdksu Eg.kwu vkš [kys

tkrkr \

(A) ,sfrgkfld] orZuoknh vkf.k oS/kkfud

n`f"Vdks.k

(B) laLFkkRed] uo&laLFkkRed vkf.k

jpukRed&dk;Zoknh n`f"Vdks.k

(C) rkfŸod] ,sfrgkfld vkf.k laLFkkRed

(D) xV] O;oLFkkoknh vkf.k vfHktuoknh

n`f"Vdks.k

17. Which of the following statements

is not correct ?

(A) Military is an institutionalised

political structure.

(B) Legislature is one of the

structures of Rule Making.

(C) All rule-adjudication functions

are performed by the judiciary

alone.

(D) Bureaucracy is a major

structure of ‘Rule-Application’.

18. Which among the following

approaches are exclusively con-

sidered as traditional approaches to

the study of comparative politics ?

(A) Historical, behavioural and

legal approach

(B) Institutional, neo-institutional

and structural-functional

approach

(C) Philosophical, historical and

institutional

(D) Group, systems approach and

elitist approach
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19. Which among the following

characterises the distinct feature

of Marxist version of constitu-

tionalism ?

(A) doctrine of non-committed

judiciary

(B) doctrine of ‘limited government’

(C) doctrine of democratic centra-

lism

(D) doctrine of natural rights

20. Which among the following is

not the feature of British

constitutionalism ?

(A) Doctrine of Supremacy of the

Parliament

(B) Doctrine of Responsible

Government

(C) Territorial division of power

between central and the

provincial government

(D) Doctrine of representative

democracy

19. [kkyhyiSdh dks.krh ckc gh ?kVukoknkP;k

ekDlZoknh n`"Vhps O;oPNsnd oSf'k"VÓ Eg.kwu

lkaxrk ;sbZy \

(A) lkekftd ckaf/kydhps rŸo u eku.kkjh

U;k;laLFkk

(B) ^e;kZfnr 'kklukps* rŸo

(C) yksd'kkgh dsaÊoknkps rŸo

(D) uSlfxZd vf/kdkjkps rŸo

20. [kkyhyiSdh dks.krh ckc gh fczfV'k ?kVukoknkps

oSf'k"VÓ Eg.kwu lkaxrk ;s.kkj ukgh \

(A) lalnsP;k Js"BRokps rŸo

(B) tckonkj 'kklu iºrhps rŸo

(C) izkafrd vkf.k e/;orhZ 'kklulaLFksP;k

vf/kdkjkaps izknsf'kd lŸkk&foHkktu

(D) izkfrfuf/kd yksd'kkghps rŸo
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21. Judicial Review is a process by which

courts :

(A) can initiate a legislation

(B) can dismiss the constitutional

head of the state

(C) are in a position to rule upon

the propriety or legality of action

of the legislative and executive

branches of the government

(D) can overrule the judgement

given by the lower courts

22. Which one of the following countries

is an oldest federation ?

(A) Switzerland

(B) Canada

(C) Australia

(D) India

21. U;k;ky;hu iqufoZyksdukph izfÿ;k Eg.kts T;k

}kjk U;k;ky;s %

(A) dk;nsfufeZrh d: 'kdrkr

(B) jkT;kP;k ?kVukRed izeq[kkl inP;qr d:

'kdrkr

(C) 'kklulaLFk sP;k dk;nse aMˇ vkf.k

dk;ZdkjheaMˇkus dsysY;k ,[kk|k œrhpk

gsrw vkf.k oS/krk riklwu R;koj fu.kZ;

ns≈ 'kdrkr

(D) dfu"B U;k;ky;krhy fudky jnckny

d: 'kdrkr

22. [kkyhyiSdh dks.krs la?kjkT; gs lokZf/kd tqus

vkgs \

(A) fLoR>y±M

(B) dWuMk

(C) vkWLV™sfy;k

(D) Hkkjr
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23. Which one of the following American

Presidents had warned of emergence

of military — Industrial Complex in

USA ?

(A) W. Wilson

(B) D. Eisenhower

(C) H. Nixon

(D) L. Johnson

24. Which among the following pairs is

correctly matched ?

  I               II

(A) U.S. Senate and House

of Commons

(B) U.K. House of Lords

and National

Council

(C) Switzerland Council of States

and National

Council

(D) India Senate and House

of People

23. [kkyhyiSdh dks.kR;k vesfjdu v/;{kkus

y"djh&vkS|ksfxd&fgrlaca/kkaP;k mn;kph b'kkjk

fnyh gksrh \

(A) oqM™ks foYlu

(B) Mh- ,slsugkWoj

(C) ,p- fuDlu

(D) fyaMu tkWUlu

24. [kkyhyiSdh dks.krh tksMh vpwdi.ks tqˇysyh

vkgs] rs lkaxk %

  I             II

(A) ;q-,l~- flusV vkf.k gk≈l vkWQ

dkWeUl

(B) ;q-ds- gk≈l vkWQ ykWM~Zl vkf.k

uW'kuy dkSfUly

(C) fLoR>y±M dkSfUly vkWQ LVsV~l v°M

uW'kuy dkSfUly

(D) Hkkjr flusV vkf.k gk≈l vkWQ

fiiy
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25. What is Gerrymandering ?

(A) A concept in the American

Presidential election process.

(B) Name given to decisions given

by justice Gerry in USA.

(C) Name given to purposeful

demarcation of constituencies so

as to benefit those in power.

(D) Name given to a process in

American financial system.

26. The doctrine of Separation of Powers

given by Montesquieu had to great

impact on the making of the

Constitutions of the countries. These

are :

(A) Britain, USA

(B) USA, France

(C) Germany, Britain

(D) USA, Canada

25. ^tsjhe°Mfjax* Eg.kts dk; \

(A) vesfjdh jk"V™k/;{kk aP;k fuoM.kwd

izfÿ;srhy ,d ladYiuk-

(B) vesfjdh U;k;ewrhZ tsjh ;kauh fnysY;k

U;k;ky;hu fuokMÓkauk fnysys uko-

(C) lŸkse/;s vlysY;kauk Qk;ns'khj Bjsy

;k gsrwus ernkjla?kkP;k tk.khoiwoZd

lhekfu/kkZj.kkl fnysys uko-

(D) vesfjdh foŸkh; O;oLFks'kh lacaf/kr ,dk

izfÿ;sps uko-

26. ek°rsLdus izfrikfnysY;k lŸkkfoHkktukP;k

rŸokpk nksu ns'kkaoj [kwip izHkko iMyk- rs

dks.krs \

(A) fczVu] ;q-,l~-,-

(B) ;q-,l~-,-] ›kUl

(C) teZuh] fczVu

(D) ;q-,l~-,-] dWuMk
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27. Which of the following countries did

not have any political party till

1990s ?

(A) Venezuela

(B) Egypt

(C) Saudi Arabia

(D) Laos

28. The term ‘transitional democracies’

refers to the regimes :

(A) in post-colonial polities of the

non-western world

(B) that show incomplete signs of

democratic consolidation

following the third wave of

democratisation

(C) in the newly born Afro-Asian

states of 1950s

(D) in the newly industrialising

countries

27. [kkyhyiSdh dks.kR;k ns'kkar 1990 i;±r

i{kiºrh uOgrh \

(A) Ogsus>q,yk

(B) bftIr

(C) lkSnh vjsfc;k

(D) ykvksl

28. ^laÿe.kdkyhu yksd'kkgh* gk 'kCn iz;ksx

[kkyhyiSdh dks.kR;k jktoVhaP;k lanHkkZr

dsyk tkrks \

(A) fcxj if'peh txkrhy olkgrksŸkjdkˇhu

jkT;O;oLFkk

(B) yksd'kkghP;k frlÚ;k ykVsuarj uO;kus

mn;kl vkysY;k v'kk jktoVhph tsFks

yksd'kkgh iqjs'kh fLFkj o la?kfVr u

>kY;kP;k [kq.kk fnlrkr

(C) 1950P;k n'kdkr vfLrRokr vkysyh

uotkr vk›ks&vf'k;kph jk"V™&jkT;s

(D) uO;kus vkS|ksfxdj.k gksr vlysY;k

ns'kkrhy jktoVh

http://www.studentbounty.com/
http://studentbounty.com/


18

DEC - 15313/III

29. In parochial political culture :

(A) People are not aware of the

existence of political culture.

(B) People have ample oppor-

tunities to participate in

political process.

(C) People are not aware of the

distinction between political and

non-political aspects of life.

(D) People are aware of the

existence of political structure

and process but do not feel like

participating in the process.

30. Weber’s theory of charismatic

authority can be successfully

employed to :

(A) regimes of developed countries

(B) regimes of underdeveloped

countries that are facing

revolution of rising expectations

(C) regimes of traditional societies

(D) none of the above

29. ladqfpr jktdh; laLœrh Eg.kts %

(A) yksdkauk vfLrRokr vlysY;k jktdh;

lajpukaps Hkku ulrks-

(B) yksdkauk jktdh; izfÿ;sr lgHkkxh

gks.;kph eqcyd la/kh vlrs-

(C) yksdkauk jktdh; vkf.k fcxjjktdh;

thoukrhy Qjdkaps Hkku ulrs-

(D) yksdkauk jktdh; lajpukaP;k vfLrRokps

o izfÿ;sps Hkku vlrs i.k R;kr lgHkkxh

Ogkos okVr ukgh-

30. oscjpk oy;kafdr vf/klŸkspk flºkar dks.kR;k

O;oLFksl leiZdi.ks ykxw djrk ;sbZy \

(A) fodflr ns'kkrhy jkT;O;oLFkk

(B) ok<R;k vis{kkaph ÿkarh vuqHko.kkÚ;k

fodlu'khy ns'kkrhy jkT;O;oLFkk

(C) ikjaifjd lektkrhy jkT;O;oLFkk

(D) ojhyiSdh dks.krsgh ukgh
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31. In a subject political culture people

prefer to remain passive observer of

the political process because :

(A) they are totally ignorant about

the political authority and

institutions in the system

(B) either they fear the con-

sequences of political participa-

tion or they feel that their

participation is bound to be

ineffective

(C) they are politically apathetic

(D) they are illiterate

32. Which one of the groups of the

following political parties have a

regionalist agenda ?

(A) Shiv Sena, DMK, Samajwadi

Party

(B) AGP, Shiv Sena, Akali Dal

(C) NCP, AGP, TDP

(D) TDP, NCP, Samajwadi Party

31. vkKk a fdr jktdh; laLœrhe/;s yk sd

jktdh; izfÿ;sl lgHkkxh gks.;kl vuqRlqd

vlrkr dkj.k %

(A) R;kauk jktdh; lŸkk&lajpukaph vkf.k

laLFkkaph dkghp ekfgrh ulrs

(B) jktdh; lgHkkxkP;k laHkkO; ifj.kkekaph

R;kauk ,drj Hkhrh okVrs fdaok vkiyk

lgHkkx ikfj.kkedkjd gks.kkj ukgh vls

R;kauk eukseu okVr vlrs

(C) rs jktdh;n`"VÓk mnklhu vlrkr

(D) rs fuj{kj vlrkr

32. [kkyhyiSdh dks.kR;k jktdh; i{kkaP;k xVkps

izns'kfu"B jktdh; dk;Zÿe vkgs \

(A) f'kolsuk] Mh-,e-ds-] lektoknh i{k

(B) ,-th-ih-] f'kolsuk] vdkyh ny

(C) ,u-lh-ih-] ,-th-ih-] Vh-Mh-ih-

(D) Vh-Mh-ih-] ,u-lh-ih-] lektoknh i{k
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33. Which one of the following books

was written by S.N. Banerjea ?

(A) A Nation in the Making

(B) The Ramayan : A True Reading

(C) Hindutva

(D) The Evolution of Provincial

Finance in British India

34. ‘Karachi Charter’ was a forerunner

of :

(A) Federalism

(B) Communal Electorate

(C) Directive Principles of State

Policy

(D) Fundamental Rights

35. With regard to Fundamental

Rights, which one of the following

statements is correct ?

(A) They are absolute

(B) They are not restricted

(C) They are not natural rights

(D) They cannot be suspended

during national emergency

33. ,l-,u- cWuthZus [kkyhyiSdh dks.krs iqLrd

fyghys \

(A) v uW'ku bu n esfdax

(B) n jkek;.k % v V™w jhfMax

(C) fganqRo

(D) n ,oksY;w'ku vkWQ izk sfO agf'k;y

Qk;usUl bu fczfV'k bafM;k

34. ^djkph pkVZj* gs [kkyhyiSdh d'kkps iqoZlqjh

gksrs \

(A) la?kjkT;

(B) tkrh; ernkjla?k

(C) ekxZn'kZd rRos

(D) ewyHkwr gDd

35. ewyHkwr gDdkaP;k lanHkkZr] [kkyhyiSdh dks.krs

fo/kku lR; vkgs \

(A) rs ve;kZn vkgsr

(B) R;kaP;koj ca/ku ukghr

(C) rs uSlfxZd gDd ukghr

(D) jk"V™h; vkf.kck.khP;k dkˇkr rs jÌ dsys

tk≈ 'kdr ukghr
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36. Which one of the following books

described India as a ‘soft state’ ?

(A) Asian Drama

(B) Politics in India

(C) Who Wants Democracy

(D) India’s China War

37. Which one of the following issues

was addressed by Dinesh Goswami

Committee ?

(A) Panchayati Raj Institutions

(B) Welfare of Minorities

(C) Electoral reforms

(D) Anti-terror measures

38. Which among the following states

has given 50% representation to

women in local self-governing

institutions ?

(A) Gujarat

(B) Maharashtra

(C) Kerala

(D) Assam

36. [kkyhyiSdh dks.kR;k xzaFkkr Hkkjrkps o.kZu ,d

^lkSE; jkT;* Eg.kwu dsys vkgs \

(A) ,f'k;u M™kek

(B) ikWfyfVDl bu bafM;k

(C) gq ok°V~l Mseksÿslh

(D) bafM;kt+ pk;uk okWj

37. fnus'k xksLokeh lferhus [kkyhyiSdh dks.kR;k

fo"k;koj Hkk"; dsys \

(A) iapk;r jkt laLFkk

(B) vYila[;dkaps fgr

(C) fuoM.kqd lq/kkj.kk

(D) ng'krokn fojks/kh mik;;kstuk

38. [kkyhyiSdh dk s.kR;k jkT;kus LFkkfud

LojkT; laLFkkae/;s efgykauk 50% vkj{k.k

fnys vkgs \

(A) xqtjkr

(B) egkjk"V™

(C) dsjˇ

(D) vklke
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39. While moving the objectives

Resolution, Nehru compared it

with which other country’s similar

resolution ?

(A) American Declaration of

Independence

(B) Glorious Revolution of England

(C) Russian Revolution

(D) French Revolution

40. Give the correct answer by using the

code given below :

Assertion (a) :

Directive Principles of State Policy,

though unjusticeable, are an

innovative provision for guiding the

state in policy making.

Reason (r) :

They are therefore referred to as

‘instruments of instructions’.

Codes :

(A) (a) is true but (r) is false.

(B) Both (a) and (r) are true and (r)

is correct explanation of (a).

(C) (a) is false but (r) is true.

(D) Both (a) and (r) are false and

(r) is not correct explanation

of (a).

39. mfÌ"Vkalaca/khpk Bjko ekaMr vlrkauk ia- usg:auh

R;kph dks.kR;k ns'kkrhy Bjkok'kh rqyuk

dsyh \

(A) vesfjdh Lokrá ;kpk tkghjukek

(B) baXyaMph oSHko'kkyh ÿkarh

(C) jf'k;u jkT;ÿkarh

(D) ›sap jkT;ÿkarh

40. [kkyh fnysY;k ladsrlwphpk okij d:u

;ksX; mŸkj |k %

fo/kku (a) :

tjh jkT;kP;k /kksj.kfo"k;d ekxZn'kZd flºkarkauk

?kVukRed laj{k.k ulys rjh rh jkT;kP;k

/kksj.k fufeZrhl ekxZn'kZu dj.kkjh ukfoU;iw.kZ

rjrwn vkgs-

dkj.k (r) :

R;keqˇs R;kauk /kksj.k fo"k;d ekxZn'kZukph

lk/kus Eg.k.;kr ;srs-

ladsrlwph %

(A) (a) cjkscj vkgs i.k (r) pwd vkgs-

(B) (a) o (r) gs nksUgh cjkscj vkgsr o (r)

gs (a) ps ;ksX; Li"Vhdj.k vkgs-

(C) (a) pwd vkgs i.k (r) cjkscj vkgs-

(D) (a) o (r) gs nksUgh pwd vkgsr o (r)

gs (a) ps ;ksX; Li"Vhdj.k ukgh-
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41. Which one of the following groups

of political parties or movements can

be described as separatist ?

(A) Khalistan Liberation Army,

JKLF

(B) TDP, Manipur Liberation Army

(C) Telangana Rashtra Samiti,

Harit Pradesh

(D) GNLF and ULFA

42. Which one of the following pairs is

correctly matched ?

(A) Indian Constitution :

Cornerstone of a Nation—

Granville Austin

(B) Competing Equalities—W.H.

Morris Jones

(C) Government and Politics of

India—Zoya Hasan, et al

(D) India’s Living Constitution—

Marc Galanter

41. [kkyhyiSdh dks.kR;k xV fdaok pˇoˇhauk

QqVhjrkoknh pˇoˇ eku.;kr ;srs \

(A) [kfyLrku fycjs'ku vkehZ] ts-ds-,y~-,Q~-

(B) Vh-Mh-ih-] e.khiwj fycjs'ku vkehZ

(C) rsyaxkuk jk"V™ lferh] gfjr izns'k

(D) th-,u-,y-,Q- vkf.k mYQk

42. [kkyhyiSdh dks.krh tksMh ;ksX; izdkjs

tqˇoyh vkgs \

(A) bafM;u dk°fLVVÓq'ku % dkWuZjLVksu

vkWQ , us'kuµxzWufOgy vkWfLVu

(B) dk°fifVax bDoWfyVhtµMCY;w-,p-

ekWfjl tksUl

(C) xOguZes aV v°M ik WfyfVDl vkWQ

bafM;kµ>ks;k glu o brj

(D) bafM;kt fyfOagx dk°fLVVÓq'kuµekdZ

xWyaVj
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43. Which one of the following Articles

in Indian Constitution changes the

country from federal to unitary

government and is invoked to

protect ‘the security of India’ from

threats of war, external aggression

or internal disturbances ?

(A) 352

(B) 355

(C) 356

(D) None of the above

44. For which one of the following

objectives, the National Develop-

ment Council, comprising of Chief

Ministers, was set up ?

(A) to endorse the Central

Government’s decisions

(B) to evolve a single development

model

(C) to review and recommend social

and economic policies

(D) none of the above

43. Hkkjrh; jkT;?kVusP;k [kkyhyiSdh dks.kR;k

dyekuqlkj Hkkjrkps ;qº] ijdh; vkÿe.k ok

varxZr caMkˇh ;kiklwu laj{k.k dj.;klkBh

Hkkjrh; la?kjkT;ps ,dkRe jkT;kr :ikarj

dj.;kph rjrwn dsyh vkgs \

(A) 352

(B) 355

(C) 356

(D) ojhyiSdh dks.krsgh ukgh

44. [kkyhyiSdh dks.kR;k mfÌ"VkaP;k iwrhZlkBh

eq[;ea´;k apk lekos'k vlysyh jk"V™h;

fodklifj"kn LFkkiu dj.;kr vkyh \

(A) dsaÊljdkjP;k fu.kZ;kl ekU;rk ns.ks

(B) loZekU; fodkl izfreku fodflr dj.ks

(C) lkekftd o vkfFk Zd /k k s j.k k ap s

iqujkoyksdu dj.ks o R;kckcr f'kQkjl

dj.ks

(D) ojhyiSdh dks.krsgh ukgh
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45. Demand for separate state of Harit

Pradesh was primarily made by

which one of the following political

parties ?

(A) BSP

(B) Samajwadi Party

(C) Rashtriya Lok Dal

(D) Biju Janta Dal

46. The philosophical base of New

Public Management is :

(A) Public choice theory

(B) Welfare-state orientation

(C) Democratic socialism

(D) Nationalisation

45. [kkyhyiSdh dks.kR;k i{kkus gfjr izns'k gs

osx š jkT; LFkkiu dj.;kph ekx.kh dsyh

vkgs \

(A) cgqtu lekt i{k

(B) lektoknh i{k

(C) jk"V™h; yksd ny

(D) chtw turk ny

46. uo&yksdO;oLFkkiukpk ik;k iq<hyiSdh ,d

vkgs %

(A) lkoZtfud fuoM flºkUr

(B) dY;k.kdkjh jkT;

(C) yksd'kkgh lektokn

(D) jk"V™h;hdj.k
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47. Match List I with List II and select

the correct answer by using the

codes given below the list :

List I List II

(a) Scientific Manage- (1) Herbert Simon

ment theory of

organisation

(b) Human Relations (2) Max Weber

theory

(c) Ideal type of (3) Elton Mayo

Bureaucracy

(d) Decision-making (4) F.W. Taylor

theory

Codes :

(a) (b) (c) (d)

(A) (3) (4) (1) (2)

(B) (4) (3) (2) (1)

(C) (1) (2) (4) (3)

(D) (2) (3) (4) (1)

47. ;knh I o ;knh II e/khy ;ksX; tksMÓk ykowu

;knÓkaP;k [kkyh fnysY;k ladsrlwphe/kwu ;ksX;

mŸkj fuoMk %

;knh I ;knh II

(a) la?kVuspk 'kkL=h; (1) gcZVZ lk;eu

O;oLFkkiu flºkUr

(b) ekuoh laca/k flºkUr (2) eWDl oscj

(c) uksdj'kkghpk vkn'kZ (3) ,YVu es;ks

izdkj

(d) fu.kZ; fu/kkZj.k flºkUr (4) ,Q~-MCY;w- Vsyj

ladsrlwph %

(a) (b) (c) (d)

(A) (3) (4) (1) (2)

(B) (4) (3) (2) (1)

(C) (1) (2) (4) (3)

(D) (2) (3) (4) (1)
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48. The term ‘Committed Bureaucracy’

means bureaucracy committed to :

(A) the political party in power

(B) the prominent political leader

(C) the principles laid down in the

constitution

(D) the minister concerned

49. The Comptroller and Auditor

General of India is described as

guide, philosopher and friend of :

(A) Assurance Committee

(B) Estimates Committee

(C) Committee on Public Under-

takings

(D) Public Accounts Committee

50. Which of the following is a stuff

agency in India ?

(A) The Cabinet Secretariat

(B) Health Department

(C) Education Dept.

(D) Agriculture Dept.

48. ^izfrcº uksdj'kkgh* Eg.kts th uksdj'kkgh

i q<hyi Sdh ,dkyk i z frcº vlysyh

uksdj'kkgh %

(A) lŸkkf/kf"Br jktdh; i{k

(B) egŸokpk jktdh; iq<kjh

(C) jkT;?kVusrhy rŸos

(D) lacaf/kr ea=h

49. Hkkjrkpk fu;a=d o egkys[kkijh{kdkps

iq<hy ,dk lferhpk ekxZn'kZd] rŸoK o

fe= Eg.kwu o.kZu dsys tkrs %

(A) vk'oklu lferh

(B) vankt lferh

(C) lkoZtfud miÿe lferh

(D) lkoZtfud ys[kk lferh

50. [kkyhyiSdh dks.krs ,d Hkkjrkrhy lkgk∏;dkjh

vfHkdj.k vkgs \

(A) eaf=eaMˇ lfpoky;

(B) vkjksX; [kkrs

(C) f'k{k.k [kkrs

(D) 'ksrh [kkrs
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51. Principal criticism on Max Weber’s

theory of bureaucracy is that, it

ignores :

(A) rational aspect

(B) functional aspect

(C) informal aspect

(D) formal aspect

52. Which of the following statement

is correct as regards Planning

Commission of India ?

(A) The Finance Minister in the

Chairman of the Planning

Commission

(B) The Dy. Chairman is a full time

member

(C) There are no full time members

(D) There are no ex-officio members

51. eWDl oscjP;k uksdj'kkgh flºkUrkoj dsyh

tk.kkjh Vhdk Eg.kts rks iq<hy ,dk iSywdMs

nqyZ{k djrks %

(A) rkfdZd iSyw

(B) dk;kZRed iSyw

(C) vukSipkfjd iSyw

(D) vkSipkfjd iSyw

52. HkkjrkP;k ;kstuk vk;ksxklaca/kh iq<hyiSdh

dks.krs ,d fo/kku cjkscj vkgs \

(A) vFkZea=h ;kstuk vk;ksxkpk v/;{k

vlrks

(B) mik/;{k iw.kZoš  lHkkln vlrks

(C) dks.krkgh iw.kZoš  lHkkln ulrks

(D) dks.krkgh inflº lHkkln ulrks
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53. Which are the basic principles of

Riggs’ model ?

(1) Comparative

(2) Ecological

(3) Structural-functional

(4) Developmental

Codes :

(A) (1), (2) and (3) are correct

(B) (2), (3) and (4) are correct

(C) (1), (2) and (4) are correct

(D) (1), (3) and (4) are correct

54. The strategies of economic liberalism

include :

(A) More investment in public

sector

(B) Greater reliance on market

mechanism

(C) Increasing scope of industrial

licensing

(D) Increasing govt. deficits

53. fjXtP;k izk:ikph ewyHkwr rŸo iq<hy izek.ks

vkgsr %

(1) rqyukRed

(2) i;kZoj.kkRed

(3) jpukRed&dk;kZRed

(4) fodklkRed

ladsrlwph %

(A) (1), (2) o (3) cjkscj vkgsr

(B) (2), (3) o (4) cjkscj vkgsr

(C) (1), (2) o (4) cjkscj vkgsr

(D) (1), (3) o (4) cjkscj vkgsr

54. vkfFkZd mnkjhdj.kkP;k ra=kr iq<hy xks"Vhapk

lekos'k gksrks %

(A) lkoZtfud {ks=kr vf/kd xqaro.kwd

(B) cktkj ;a=.ksoj vf/kd voyacu

(C) vkS|ksfxd ijokU;kph O;kIrh ok<o.ks

(D) 'kkldh; rwV ok<o.ks
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55. One of the features of development

administration is that :

(A) It has participative emphasis

(B) It stresses rules

(C) It emphasises regulatory work

(D) It emphasises centralisation

56. One of the features of public

bureaucracy in India is :

(A) Specialist pattern of

administration

(B) Generalist pattern of

administration

(C) Technocratic administration

(D) Scientific administration

57. “Good Governance” includes one of

the following :

(A) Absense of government

(B) Minimum government

(C) Effective government

(D) Maximum government

55. fodkl iz'kklukps iq<hy ,d oSf'k"VÓ

Eg.kts %

(A) R;kpk lgHkkxkoj Hkj vlrks

(B) rs fu;ekaoj Hkj nsrs

(C) rs fu;ked dk;kZoj Hkj nsrs

(D) rs dsaÊhdj.kkoj Hkj nsrs

56. Hkkjrkrhy lkoZtfud uksdj'kkghps ,d oSf'k"VÓ

Eg.kts %

(A) fo'ks"kKiz/kku 'kkluizdkj

(B) loZlk/kkj.kK iz/kku 'kkluizdkj

(C) ra=Kku iz/kku iz'kklu

(D) 'kkL='kqº iz'kklu

57. lq&'kklu O;oLFksr iq<hyiSdh ,dkpk varHkkZo

gksrks %

(A) 'kklukpk vHkko

(B) fdeku 'kklu

(C) ifj.kkedkjd 'kklu

(D) deky 'kklu
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58. Women’s empowerment in local

governance was one of the important

features of :

(A) 73rd Amendment to the

Constitution

(B) 74th Amendment to the

Constitution

(C) 83rd Amendment to the

Constitution

(D) 85th Amendment to the

Constitution

59. The Nehruvian model of

development is based on :

(A) Democratic socialism

(B) Socialism

(C) Scientific socialism

(D) Withdrawal of state from

economic activities

58. LFkkfud 'kkluO;oFksr efgyk l'kDrhdj.k

gs iq<hyiSdh ,dk ?kVuknq#Lrhps egRokps

oSf'k"VÓ vkgs %

(A) 73oh ?kVuknq#Lrh

(B) 74oh ?kVuknq#Lrh

(C) 83oh ?kVuknq#Lrh

(D) 85oh ?kVuknq#Lrh

59. usg:izf.kr fodklkps izk:i iq<hyiSdh ,dkoj

vk/kkjysys vkgs %

(A) yksd'kkgh lektokn

(B) lektokn

(C) 'kkL=h; lektokn

(D) vkfFkZd dk;k±rwu jkT;kph eqDrh
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60. Which of the following is not a

distinctive feature of 73rd

constitution amendment ?

(A) Assignment of subjects

(B) Two-tier system of Panchayati

Raj Institutions

(C) Fixity of tenure

(D) Provision of finances

61. Select the correct chronological

order of world events :

(1) Cuban Missiles Crisis

(2) Beginning of New Cold War

(3) Nuclear Non-Proliferation

Treaty

(4) Disintegration of the USSR

Codes :

(A) (1)—(3)—(2)—(4)

(B) (4)—(1)—(2)—(3)

(C) (3)—(1)—(4)—(2)

(D) (2)—(3)—(1)—(4)

60. 73O;k ?kVuknq#Lrhps iq<hyiSdh dks.krs ,d

egRokps oSf'k"VÓ ukgh \

(A) fo"k;kaph fuf'prh

(B) iapk;rh jkT;kaph f}Lrjh ;kstuk

(C) fuf'pr dkyko/kh

(D) foŸkh; rjrwn

61. [kkyhy ?kVuk dkykuqÿes fygk %

(1) D;qckrhy {ksi.kkL= ispizlax

(2) uohu 'khr;qºkph lq#okr

(3) v.oL= izlkjcanh djkj

(4) lksfOg,r ;qfu;ups fo?kVu

ladsrlwph %

(A) (1)—(3)—(2)—(4)

(B) (4)—(1)—(2)—(3)

(C) (3)—(1)—(4)—(2)

(D) (2)—(3)—(1)—(4)
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62. Predominantly diplomatic and

economic post-conflict action taken

to rebuild governmental infra-

structure and institutions in order

to avoid a relapse into conflict, is

referred to as :

(A) Peace making

(B) Peace keeping

(C) Peace enforcement

(D) Peace building

63. The Maritime dispute over Sir Creek

is between :

(A) India—Myanmar

(B) India—Pakistan

(C) India—Sri Lanka

(D) India—Bangladesh

64. Who coined the idea of “soft” power

in international relations ?

(A) Robert Kohn

(B) Joseph Nye

(C) Andrew Linklater

(D) John Vasques

62. la?k"kZ laiY;kuarj rks iqUgk mn~Hkow u;s Eg.kwu

'kkldh; lajpuk vkf.k laLFkk mHkkj.;klkBh

dsysY;k izkeq[;kus jktuf;d vkf.k vkfFkZd

œrhyk dk; Eg.krkr \

(A) 'kkarrkfufeZrh

(B) 'kkarrkj{k.k

(C) 'kkarrkizLFkkiu

(D) 'kkarrk mHkkj.kh

63. ljÿhde/khy lkxjh lhespk fookn dks.kR;k

nksu ns'kkae/khy vkgs \

(A) HkkjrµE;kuekj

(B) HkkjrµikfdLrku

(C) HkkjrµJhyadk

(D) Hkkjrµckaxykns'k

64. vkarjjk"V™h; laca/kkae/ks fllkSE;fi lŸkk gh dYiuk

dks.kh izFke ekaMyh \

(A) jkWcVZ dksgu

(B) tkslsQ uk;

(C) vW.M™Ów fyadysVj

(D) tkWu oWLDos>
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65. Which are the three important

principles of the Gujral Doctrine ?

(A) Non-interference, reciprocity

and denying any role to extra-

regional Powers in South Asia.

(B) Non-interference, non-recipro-

city and important role to extra-

regional powers in South Asia.

(C) Non-interference, non-recipro-

city and denying any role to

extra-regional powers in South

Asia.

(D) Subtle interference, reciprocity

and importance to extra-

regional powers in South Asia.

66. Long Cycle Theory, Power

Transition Theory, Diversionary

Theory are all related to :

(A) Armed conflict between and

within states

(B) Changing character of military

power

(C) Ecological security

(D) Theories explaining effects of

Globalisation

65. xqtjky MkWfDV™uph rhu egŸokph rŸos

dks.krs \

(A) gLr{ksi u dj.ks] ijLij lg;ksfxrk

vkf.k {ks=ckgÓ lŸkkauk n- vkf'k;kr

LFkku u ns.ks

(B) gLr{ksi u dj.ks] ijLij lg;ksfxrspk

vkxzg u /kj.ks vkf.k {ks=ckgÓ lŸkkauk

n- vkf'k;kr egŸokps LFkku cgky

dj.ks

(C) gLr{ksi u dj.ks] ijLij lg;ksfxrspk

vkxzg u /kj.ks vkf.k {ks=ckgÓ lŸkkauk

n- vkf'k;kr LFkku u ns.ks

(D) Nq.kk gLr{ksi] ijLij lg;ksfxrk vkf.k

{ks=ckgÓ lŸkkauk n- vkf'k;kr egŸokps

LFkku cgky dj.ks

66. yk°x lk;dy fFkvjh] ikWoj V™kfU>'ku fFkvjh]

Mk;OgtZujh fFkvjh] ;k lok±pk laca/k

[kkyhyiSdh d'kk'kh vkgs \

(A) vkarjns'kh; rlsp ns'kkarxZr l'kL=

la?k"kZ

(B) y"djh cˇkps cnyrs Lo:i

(C) i;kZoj.kh; lqj{kk

(D) tkxfrdhdj.kkps ifj.kke ekaM.kkj s

flºkar
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67. Which of the following correctly

states the factors leading to the end

of the Cold War ?

(A) Disintegration of the Soviet

Union, Collapse of Communist

regimes in East Europe

(B) Disintegration of the Soviet

Union, formation of the WTO

(C) Collapse of Communist regimes

in East Europe, defeat of Iraq

in Gulf War 1991

(D) Formation of the WTO, defeat

of Iraq in Gulf War 1991

68. Match List I with List II and select

the correct answer by using the

codes given below the lists :

List I List II

(a) UN intervention lead- (i) East Timor

ing to independence

(b) UN intervention to (ii) Cambodia

end conflict and

restore peace

(c) Unsuccessful UN (iii) Yugoslavia

intervention

(d) UN failure to act to (iv) Rwanda

end ethnic strife

Codes :

(a) (b) (c) (d)

(A) (iv) (iii) (ii) (i)

(B) (iv) (ii) (i) (iii)

(C) (ii) (i) (iv) (iii)

(D) (i) (ii) (iii) (iv)

67. 'khr;qº lai.;kph [kkyhyiSdh dks.krh dkj.ks
vkgsr \

(A) lksfOg,r ;qfu;ups fo?kVu] iwoZ ;qjksikrhy
dE;qfuLV jktoVhaps iru

(B) lksfOg,r ;qfu;ups fo?kVu] tkxfrd
O;kikj la?kVusph LFkkiuk

(C) iwoZ ;qjksikrhy dE;qfuLV jktoVhaps
iru] 1991P;k vk[kkrh ;qºkrhy bjkdpk
ijkt;

(D) tkxfrd O;kikj la?kVusph LFkkiuk]
1991P;k vk[kkrh ;qºkrhy bjkdpk
ijkt;

68. ;knh I o ;knh II e/khy ;ksX; tksMÓk ykowu
;knÓkaP;k [kkyh fnysY;k ladsrlwphe/kwu ;ksX;
mŸkj fuoMk %

   ;knh I ;knh II

(a) la;qDr jk"V™kaP;k gLr& (i) iwoZ frewj

{ksikeqˇs Lokra´;izkIrh

(b) la?k"kZ laiowu 'kkarrk (ii) dEcksfM;k

izLFkkfir dj.;klkBh

la;qDr jk"V™kapk gLr{ksi

(c) la;qDr jk"V™kapk v;'kLoh (iii) ;qxksLykfo;k

gLr{ksi

(d) okaf'kd naxyh Fkkaco.;k& (iv) jokaMk

lkBh œrh dj.;kr la;qDr

jk"V™kauk vkysys vi;'k

ladsrlwph %
(a) (b) (c) (d)

(A) (iv) (iii) (ii) (i)

(B) (iv) (ii) (i) (iii)

(C) (ii) (i) (iv) (iii)

(D) (i) (ii) (iii) (iv)
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69. Which of the following statements

is correct ?

(A) The UN-mandated multilateral

forces helped overthrow

Mubarak regime in Egypt in

February 2011.

(B) The Gulf Co-operation Council

intervened in the crisis in Egypt

to bring about a change of

regime in February 2011.

(C) Pressure from the US and the

NATO brought about a regime

change in Egypt in February

2011.

(D) People’s revolt overthrew the

government of President

Mubarak in February 2011.

69. [kkyhyiSdh dks.krk fo/kku cjkscj vkgs \

(A) Qsczqokjh 2011 e/ks la;qDr jk"V™kaP;k

laerhus cgqjk"V™h; QkStkauh bftIre/khy

eqckjd jktoV myFkowu Vkd.;kl enr

dsyh-

(B) Qsczqokjh 2011 e/ks bftIre/khy jktoV

cny.;klkBh xYQ dksvkWijs'ku dkSfUlyus

gLr{ksi dsyk-

(C) vesfjdk vkf.k ukVks ;kaP;k nckokeq š

bftIre/ks Qsczqokjh 2011 e/ks jktoV

cnyyh-

(D) tursus mBko d:u Qsczqokjh 2011

e/ks bftIre/khy eqckjd ljdkj myFkowu

Vkdys-
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70. What role did India play during the

political crisis in Maldives in

February 2012 ?

(A) Indian Navy helped President

Nasheed retain his power

(B) India helped ensure smooth

transition of power and

minimum violence

(C) India helped Vice President

Waheed Hassan Oust President

Nasheed

(D) Indian Government suspended

all diplomatic relations with

Maldives during the crisis

71. Which of the following statements

is correct ?

(A) India cannot stop importing oil

from Iran because it depends

heavily on Iranian oil.

(B) India has imposed embargo on

oil imports from Iran under US

pressure.

(C) India has opposed US sanctions

on Iranian oil.

(D) India has appealed to the UN

to lift the embargo on Iranian

oil.

70. ekynhoe/ks Qsczqokjh 2012 e/ks ?kMysY;k

jktdh; ispizlaxkr Hkkjrkus dks.krh Hkwfedk

ctkoyh \

(A) Hkkjrkus v/;{k u'khn ;kauk R;kaph lŸkk

fVdo.;kl enr dsyh

(B) Hkkjrkus lŸkkcny lqyHk gksbZy vkf.k

dehrdeh fgalk gksbZy vls ikfgys

(C) v/;{k u'khn ;kauk lŸksrwu gVo.;klkBh

Hkkjrkus mik/;{k okfgn glu ;kauk enr

dsyh

(D) ispizlaxknjE;ku Hkkjrkus ekynhocjkscjhy

loZ jktuSfrd laca/k rksMys

71. [kkyhyiSdh dks.krk fo/kku cjkscj vkgs \

(A) Hkkjr bjk.kh rsykph vk;kr Fkkacow 'kdr

ukgh dkj.k rks R;koj voyacwu vkgs-

(B) vesfjdsP;k nckok[kkyh Hk kjrku s

bjk.ke/kwu ;s.kkÚ;k rsykoj canh ?kkryh

vkgs-

(C) vesfjdsP;k bjk.kh rsykojhy canhyk

Hkkjrkus fojks/k dsyk vkgs-

(D) bjk.kP;k rsykojhy canh mBo.;klkBh

Hkkjrkus la;qDr jk"V™kadMs vihy dsys

vkgs-
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72. Which among the following

statements represents the official

position of India on the NPT ?

The Treaty is not acceptable

because :

(A) it prevents vertical proliferation

but fails to prevent horizontal

proliferation

(B) it imposes restrictions on

underground nuclear testing

(C) it fails to prevent threshold

nuclear powers from making

nuclear weapons

(D) it prevents horizontal pro-

liferation but fails to prevent

vertical proliferation

73. What is Humanitarian Interven-

tion ?

(A) International intervention in a

state for a humanitarian cause,

even without the consent of the

concerned state.

(B) Intervention by a major power

in a state for a humanitarian

cause, even without the consent

of the concerned state.

(C) International intervention in a

state for a humanitarian cause,

only with the consent of the

concerned state.

(D) Intervention by a major power

in a state for humanitarian

cause, only with the consent of

the concerned state.

72. [kkyhyiSdh dks.krs fo/kku v.oL=izlkjcanh
djkjkfo"k;hph Hkkjrkph Hkwfedk ;ksX; jhrhus
ekaMrs \

gk djkj vekU; vkgs dkj.k %

(A) R;kr v.oL=/kkjh ns'kkauh vf/kd v.oL=s
cufo.;koj canh vkgs] ijarq v.oL=s
ulysY;k ns'kkauh Hkfo";kr v.oL=s
cuo.;koj fuc±/k ukghr

(B) rks Hkwfexr v.kqpkp.;kaoj canh ?kkyrks

(C) gk djkj v.oL=s cuo.;kP;k vxnh
toˇ ikspysY;k ns'kkauk R;kiklwu ijko`Ÿk
d: 'kdr ukgh

(D) R;kr v.oL=s ulysY;k ns'kkauh Hkfo";kr
v.oL=s cuo.;koj fuc±/k vkgsr] ijarq
v.oL=/kkjh ns'kkauh vf/kd v.oL=s
cuo.;koj canh ukgh

73. ekuorkoknh gLr{ksi Eg.kts dk; \

(A) ,[kk|k ns'kkr ekuorkoknh dkj.kkalkBh]
izlaxh lacaf/kr ns'kkP;k laerhf'kok;
dsysyk] vkarjjk"V™h; gLr{ksi-

(B) ,[kk|k ns'kkr ekuorkoknh dkj.kkalkBh]
izlaxh lacaf/kr ns'kkP;k laerhf'kok;]
,[kk|k izcˇ ns'kkus dsysyk gLr{ksi-

(C) ,[kk|k ns'kkr ekuorkoknh dkj.kkalkBh]
QDr lacaf/kr ns'kkP;k laerhus dsysyk
vkarjjk"V™h; gLr{ksi-

(D) ,[kk|k ns'kkr ekuorkoknh dkj.kkalkBh]
QDr lacaf/kr ns'kkP;k laerhus] ,[kk|k
izcˇ ns'kkus dsysyk gLr{ksi-
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74. Which of the following is an integral

part of India-US Nuclear Deal ?

(A) Capping the programme of

developing nuclear weapons

and accept FAEA restrictions

unconditionally.

(B) Protecting the self-sufficiency of

Indian nuclear programme by

signing the NPT.

(C) Separating civilian and military

nuclear reactors and bring the

civilian reactors under IAEA.

(D) Accept IAEA conditions on the

Fast Breeder Reactors.

75. The two principles governing the

reduction of trade barriers under the

WTO are :

(A) Non-reciprocity and non-

discrimination

(B) Non-discrimination and

reciprocity

(C) Reciprocity and discrimination

(D) Non-reciprocity and discri-

mination

74. [kkyhyiSdh dks.krk eqÌk Hkkjr&vesfjdk

v.kqdjkjkpk vfoHkkT; Hkkx vkgs \

(A) v.oL=s cuo.;kpk dk;Zÿe can dj.ks

vkf.k vkarjjk"V™h; v.kq≈tkZ vk;ksxkps

fuc±/k fcu'krZ ekU; dj.ks-

(B) v.oL= izlkjcanh djkjkoj lgh d:u

HkkjrkP;k vkf.od dk;Zÿekph Lo;aiw.kZrk

ti.ks-

(C) v.kqHkÍÓkaps ukxjh vkf.k y"djh vls

oxh Zdj.k d:u ukxjh v.k qHkÍÓk

vk arjjk"V™h; v.k q≈tk Z vk;k sxkP;k

fu;a=.kk[kkyh vk.k.ks-

(D) QkLV czhMj v.kqHkÍÓkaoj vkarjjk"V™h;

v.kq≈tkZ vk;ksxkps fuc±/k ekU; dj.ks-

75. tkxfrd O;kikj la?kVusph O;kikjkrhy vMFk š

deh dj.;kfo"k;hph nksu rŸos dks.krh \

(A) ijLij lg;k sfxrspk vHkko vkf.k

HksnHkkokpk vHkko

(B) HksnHkkokpk vHkko vkf.k ijLij lg;ksfxrk

(C) ijLij lg;ksfxrk vkf.k HksnHkko

(D) ijLij lg;k sfxrspk vHkko vkf.k

HksnHkko
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